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Question Number : 1 Question Id : 8135612401 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Which among the following is not a xerophytic character of gymnosperms?

808 TS Dy Dered® Jd g L wELo T

Options :
Neeadle like leaves

RAPEOL Dotd HTrew

Aerenchyma
TS0t Szreo

Sunken stomata
SrRG DG Coren

Thick cuticle
SoBA0VR 3DeTT )
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Question Number : 2 Question Id : 8135612402 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Artificial synthesis of genes was demonstrated by

2] 5,8 DoFREIW DA oL TP

Options :
Stephen Hales
-& - £
|, % EPRPG;
Joseph Priestly

25 52
2. ® ’ Q%

Watson

3 % D’“EJD.%

H. G. Khorana

4o TS, 2. Hod

Question Number : 3 Question Id : 8135612403 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Obligate association with mycorrhiza is seen in

ETE & om0 DITPTRHA0 BakL 08,

Options :

Cyeas
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Pinus

2. v BV

Lichens

3. % T5

Anthoceros

4w 90 TR

Question Number : 4 Question Id : 8135612404 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Peroxisomes in plants are associated with

208) 08" DTS w0 B3I Dotodio $HA HHotd?

Options :
Photosynthesis

- édﬁaé?g 00375 SO

Photoperiodism

5 % SeOTTrOG

Photorespiration

3 v S0l ?“Sna,écm

Aerobic respiration

STeO30 ?S“nnéab
4. ®
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Question Number : 5 Question Id : 8135612405 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Lipids arranged in the plasma membrane have

?5“&,’ ces” eﬂ;ﬁ.}dbmd &) D& en oA

Options:
Hydrophilic polar heads towards outside

, BTEGR T Dawdd DO

Hydrophobic polar heads towards inside

2ODEER T SO PPHD

Hydrophobic nonpolar heads towards outside

208G T Dedd DD

Hydrophobic nonpolar heads towards inside

20DEE I 6709 DHD
ol 2] —

Question Number : 6 Question Id : 8135612406 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Plumule in monocots 1s called

DEETDrLS” DO T 9065060

Options :
Tigellum
1 % DotrSo
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Hilum
H LVl le

Coleoptile
3 FPoso8 SotdSo

Testa
Sl D2z SS90

4, %

Question Number : 7 Question Id : 8135612407 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Which among the following is not considered as useful selectable markers for E-coli?

dod o5’ £-8'0 &° Do Satestt 26,6 5¢?
Options :
Ampicillin

1% Uoi:)fa@ﬁ

Penicillin

5 :J:}3§5

Chloramphenicol
. §60 pIS
3. % =

Tetracycline
4 % O RES

Question Number : 8 Question Id : 8135612408 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Choose the wrong statement regarding RUBISCO from the following

2085°96° GDIY, B w8 T HIWHo D&?
Options :
RUBISCO is the most abundant enzyme in the world

. GO Do orer RB)BIT €06 DoBDD

Active site of RUBISCO can bind to both CO> and O3>

DY), Sosrde go;a:m CO, 208030 0, 8ol ot) LroBot) eotidmd

The C4 plants do not have RUBISCO

3 ¢ C4 Ddowos) e dxﬁf)ﬁgj <O &odtsd)

RUBISCO has a much greater affinity for CO2 than for O2
, » 02508 CO, &0 lroid T2z Dy DT, £A erotwodd

Question Number : 9 Question Id : 8135612409 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Match the column I with Column IT and select the correct option.

Column I Column IT
a. Phloem Sap 1. Transpiration pull
b. Cohesion and adhesion i,  Excretion of water in the form of liquid droplets
¢. Stomata closure . Water and sucrose
d. Guttation v,  ABA
E0 1 Eod Il & 28 Hoaw
Sod | Sod Il
a. e 6o L 2PE By e
b. DoRioud, BRe0Rd i B Dot drnd” Ddforiot
C. D Gogian Jurus . b bokw ArEsS
d. Dodozrddw iv. ABA
Options:

(a—iii), (b—1i), (c—iv), (d—ii)

1.9
5 % (a—iii), (b—1ii), (c—iv), (d—1i)
(a—ii), (b—1), (c—iv), (d— iii)

3. %

4 (@—1iv), (b—iii), (c—1), (d—ii)

Question Number : 10 Question Id : 8135612410 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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The specialized cell i diploid organism which undergoes meiosis 1s

c&ngo:iafg@; 25" Sason & TS PA(E 5" AD?

Options :
Pollen tetrad

. blolalalnb 1“.5«?333’]%-:::

Pollen mother cell

5 @ DOI0ED HTes S0

Androcytes
5 % DO D2 SeTew

Meiocytes

 Doairesy
4. %

Question Number : 11 Question Id : 8135612411 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

AP EAMCET 2020



AP EAMCET 2020

Match the column I with Column IT and select the correct option.

Column I Column IT
a. Chromoplasts I Protemns
b. Amyloplasts I Ouls & fats
¢. Elaioplasts III. Carbohydrates
d. Alewroplasts IV. Fat soluble carotenoids

So 1 ol Il & 2 HEan

fod 1 Soo 11
2. EEID L 89
b. w@e‘i"?%{b L §Pren dabo Ardew
€. QBW%“%{D 1L 5"6}]:-;“@&53
d. derBFDd, IV. S 467 SE8Tang

Options:
1. % (a—iii), (b—iv), (c—1), (d—ii)

, % (@—iv), (b—ii), (c—1), (d—ii)

3 % (a—ii), (b—1i), (c—iv), (d —iii)

4 v @=iv), (b—iid), (c—ib), (d—1i)

Question Number : 12 Question Id : 8135612412 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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The ray floret of suntlower is

R D6 & 868 AT

Options :
Hypogvnous

woc.‘.%&?c;’}fgej

Perigynous

 D6j0EE
2. ®

Epigynous

5 o BCETDOE

Epiphyllous

DBDSBDHBIB0
4. % 8

Question Number : 13 Question Id : 8135612413 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

During cell division nuclear envelop disappears at

$eadzad DRAVOS” SoBEBWo DD ©C,F[20H0?

Options :

Early prophase
- TG0 DE &3

Late prophase

o DOS ¥
2.0 TSR
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Early metaphase
- FSozs mcﬁég &%

Late metaphase

E:ijé maﬁ}gﬁa &3
4. % @

Question Number : 14 Question Id : 8135612414 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Bacteriophage releases lysozyme at

TT B 0 LrSOCrDE ) ¢ Deode Boswn?

Options :
Absorption phase
eHT N &F

1. %

Penetration phase
) o DB 5B

Eclipse phase
L 0D 6%

Maturation Phase
) ::6::55 &3
4. %

Question Number : 15 Question Id : 8135612415 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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In winter. varieties of wheat planted 1 spring fail to flower because they lack one of the following
process

208 H30HUY’ wEB S'Hotit) S0P ITFL Hthd I5w SRed LS’ DenochY

Options :
Dormancy

20D
= @

Apical dominance
T RS(S

Photoperiodism

Stodd SO

Vernalization

D6 TSR

Question Number : 16 Question Id : 8135612416 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Dioecious condition 1s exhibited by

EDorraty fg@ﬁ BrHd

Options :
Maize
:msb g‘:{l

Cucumber

. 8%
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Date Palm

ERlobalels
3.+ 2

Chara

4 % SO

Question Number : 17 Question Id : 8135612417 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Which one of the following is not a hydrophytic character?

08 208 5" A 208 © VLo IS

Options :
Aerenchyma
w TS0 Snruoe

Root pocket
) % D 26

Well-developed xylem

eI €93):9)H Dol TPEID)
3. o

Cuticle absent

4% 9320 J¢ deo

Question Number : 18 Question Id : 8135612418 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

AP EAMCET 2020



AP EAMCET 2020

Phloem parenchyma is absent in

TS 2yEuseEruAD BIG° Sotidd

Options :
Mango

| % SEA

Maize

- ﬁmsbéft{u

Castor
3 % BONEL0

Citrus

4 % 2}.‘.13&

Question Number : 19 Question Id : 8135612419 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

In C, pathway the first stable product is

2008 0" €y D0 DVLIDVEE ?.{.gd &8 ) o

Options:
Phosphoglyceric acid

- FJy BB es0H0

Oxalo acetic acid

93'5“395‘ SIS e300
2.¥ g
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Pyruvic acid

DS €525

Citric acid

4w P85 RO

Question Number : 20 Question Id : 8135612420 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Pick out two mcorrect statements regarding codominance:

F1 generation resembles both Parents
Lens culinaris exhibit codominance

F1 resembles one of the Parents

N N N

The phenotype & genotype ratio does not coincide

R LTEBT(S DotoBol) 2 BB 5°A) PIVT L Mbotdod..

1. Fl 6200 225500 mg&i’) 9 Eoctodd

2. Oy 5355:.1"653 RITEITPEIT(D) DEB 0t

3. Fl 800 23%06° 2,880 I'® &ocdodo

4. Gy31ErD Dy Ak BAETD DG 28L° ok

Options:
1. ¢ ].& 2
) % 1 & 3

3 % 3&4

4% 2&4
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Question Number : 21 Question Id : 8135612421 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Heterophylly in Larkspur 1s an example for

er6), 06 &° DIy HEB\G &S e

Options :
De difterentiation

2)RBEBBD0

1. %

Phyllotaxy

) :ngmé‘n:c
2. %

Plasticity

o
- ,f.q'f“gh:eﬁ

Difterentiation

4 x DEEAD

Question Number : 22 Question Id : 8135612422 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Exchange of gases in old stems takes place through

S0GH STolrue’ TN DAL B BT BEMD

Options :
Stomata

1% D& CoTrew
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Hydathodes

20 Sogren

Passage cells

3 % TS SETTRL

Lenticels
chﬁ:ﬂﬁjb
4. v

Question Number : 23 Question Id : 8135612423 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The single cotyledon of Maize is

208, Foy) &° Dz %o 208

Options :
Hypocotyl
| % 098D SFo

Epicotyl
. 600 D2 GFAL

Scutellum

) o RS0

Aleurone

4 % Eﬂ&UﬁFPE}

AP EAMCET 2020



AP EAMCET 2020

Question Number : 24 Question Id : 8135612424 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Holoenzyme 1s produced by

RORTE DoB D DE20MT DB ER?

Options :
Combined coenzyme and apoenzyme

| PP Doz Bobasn &Y oz 0

Only prosthetic group

. gﬁ{%eﬁé DATITA0 ATGa
2. %

Only protein part
3 % TOS grcdn 20°g

Cofactor

Mo i=wle Fabb)

e}

4, %

Question Number : 25 Question Id : 8135612425 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Zooidogamous ocogamy 1s not a characteristic feature of

27 TOVE T D &6 §odTIS° BIE w Lo TEO?
Options:
Algae

1 % FoLreD

Angiosperms

, o B Dare
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Pteridophytes

 G3BE pew
3, % =5

Bryophytes

L 8O D

Question Number : 26 Question Id : 8135612426 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The most commonly used matrix in gel electrophoresis for separation of DNA

DNA & 36> Baioee’ 26 JTETEO & Feronor o6 Srdys

Options :
Acrylamide

| % DSOLE

Polyacrylamide

. Fd ddodE
2. ® e

Agarose

3 @ Tlele k)

Colchicine

o &
4 % g B{)h:-é

Question Number : 27 Question Id : 8135612427 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Match the following

1. Francis Darwin 1. Auxin

2. FW. Went i1.  Phototropism
3. L. Kurosawa ii.  Cytokinin

4. Miller & Skoog 1w,  GA3

Sod T 2 :Jd:}-:::-d

L. 3Oy &8¢ i o8y
2. F.W.2o& iI. Sod AHTD PO
3. 2. T i, 26582
4. ovb & ATh iv.  GA3
Options :

Lo D, 2-D, B —iv), (4~ ii)
L x (1—iiD), @—iv), G-1D, (4—iD
, x (L—1iv), (2 —iiD), 3 —i), (4—1)
4w (=1, @—iv), 3—iii), (4—ii)

Question Number : 28 Question Id : 8135612428 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Match the organisms with their common names

Column-I Column-11
a. Chondrus i. Peat Moss
b. Sphagnum i1.  Spike Moss
¢. Cladoma i1, Irish Moss
d. Selagmella iv. Ramdeer Moss

£ cing), DGR T ITrd TAI0E RSDEEHD

OR-1 On-11
& £

a. Sold i, 85 AFD

b. Fydyo i Y8 &R

c. w&Edoir . 20 37

d. derader iv. 06 Ard
Options :
| » @—iil), (b—1), (c—iv), (d—ii)

, & (@a—iiD), (b—ii), (c—iv), (d—1)
3 x (@—iv), (b—1), (c—iif), (d—ii)

4 (@—1D), b—iv), (c—i), (d—iii)

Question Number : 29 Question Id : 8135612429 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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For what purpose NPV (Nucleo Polyhedro Virus) are being used now a days?

8D §6% arjdair FU>E DOD(NPV) 0 & Swred” odoT) 3w?
Options :
Species-specific. broad spectrum msecticidal application

2 ﬁagmma, DRy 8TV EDDT Ao oes” @@mmm

Species-specific. narrow spectrum insecticidal application

- 203 b%gmma, Q0 SIS TFVA EHDTHotdcoes” i@mmrﬁb

Non species-specific. narrow spectrum insecticidal application

23 Kl%‘g&ﬁm =2, bg;& €T FOVA EDCITHoBE oSS’ iﬁ.&mma‘)g}

Non species-specific. broad spectrum insecticidal application

2O DD 5, Vs SLET IV SHETAotstiods” FnSANDD

Question Number : 30 Question Id : 8135612430 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Pith and cortex do not differentiate in

€535, 0B He) LA Be5° DBBHo Bod Solicd?

Options :
Dicot stem

- AN~ D2 Scolo

Monocot stem

5 o Do D2 Steto
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Monocot root

3 % VGO D2 DB

Dicot root

AN~ D2z DD
4, %

Question Number : 31 Question Id : 8135612431 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The enzvme amylase belongs to the class

VT E DoBI0 2 BOAAE BotOD?

Options :
Hydrolase

| o TETE

[somerase
DV H0BS

Transtferase

Lyase
[ Slevbr

Question Number : 32 Question Id : 8135612432 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Match the column I with Column IT and select the correct option.

Column I Column IT
1. Golden Rice a. High Proteins content
2. Branica Napus b. CiyIAB
3. Bt Com ¢. [ carotene
4. Transgenic Potato d. Hirudin

Eo 1D o Il & 26 HEoan

Soon 1 o 11
1. H&S 3 2. O 85 g’
2. P8 TR b. CryIAB
3. Bts6y c. psoede
4. &8y 8IS Terey d. redd

Options:
; x (1=d), (2-a), B3—c), (4—-D)

2 L), (2—d). 1 3—h) ¢+=3)
5« (1—=Db), (2—¢c), 3—a) (4—d)

4 % (1-b), (2—4d), (3—a), (4—r0c)

Question Number : 33 Question Id : 8135612433 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Which of the following pairs 1s correctly matched?

20d T°e5° 2B oD 2 DE?
Options :
Adenine Thymine — Pyrimidines

| AR 3R - HOLL

Adenine & Guanines — Purines

L v OEAD & IS - rido

Uracil & Guanine — Pyrinudines

, OB0TRS & TR - DO

3.
Adenine & Cytosine — Purines
. 0D & PEDS - b

Question Number : 34 Question Id : 8135612434 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The vascular bunds are conjoint, collateral. endarch and closed i which of the following plants?

Noolns, Foi:}“ﬁ“dgb, R0y8, ©od8 PEA TS TV Yoared BHD ? ﬁwé&é‘ GotIAD?

Options:
Maize

_— 2008) 'y

Pea

5> % BTV
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Helianthus

5 PDairesd

Solamun

4w oI

Question Number : 35 Question Id : 8135612435 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Plasmodesmata are

SO BT e DD

Options:
Locomotory structures

1w (Q0TelmTen

Membrane connecting the nucleus with plasmalemma

, SossR) o S £9> sqvo

Connections between adjacent cells

L D8], 08, &3 s £DHA

Lignified cemented lavers between cells

. SETR 06 &ol E!ﬁclu‘i:ej T o

Question Number : 36 Question Id : 8135612436 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Assertion(A): Virus with RNA evolve faster
Reason (R): RNA is unstable

Q3ydo (A): RNA flo 263 a0 S680m H8d0otid
sedeo (R): RNA Elf&_:-d@é&

Options :
A 15 false. R 1s true
1 % A D0 2000808 5P, ‘R D0 20008

Both A and R are true. R 1s not the correct explanation of A

5 % ‘A’ 208030 'R’ 28 2010850, ‘R’ 908 20 @008 DH66 S5

A 1s true. R 1s false
3 % ‘A’ D0 0058, 'R’ 20 90058 57¢0

Both A and R are true. R is the correct explanation of A

4 ‘A’ 2080k R’ 28 0. R @08 2B o0d Do

Question Number : 37 Question Id : 8135612437 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Which one of the following is an example of biofortified wheat?

DOS° DB L FBPE HEO0D Gorirsen?

Options :
Atlas 66

Himgiri
)
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Sonalika
3 OO

Kalyan Sona

59:“565 N
4. %

Question Number : 38 Question Id : 8135612438 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Monosporic developments are a method where takes place

DS DG DRIGE DG HEHS’ 2600
& @ & @ ———
Options :
Formation of embryo sac from a single MMC

28 2o DG Daz JoredySeao Aol DocE B D6y
1.

Formation of Megasporangium

AT ¢ Dardoie OIS
@ [~ 2

Formation of Microsporanginm

arg) f::% Dersaio LN

Formation of embryo sac from single ovary

4 % 2,8 ®otio A0 Hod §%o 2363&131!.)56

Question Number : 39 Question Id : 8135612439 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Which statement among the following is incorrect?

S0 TS° PO DADIDHD VST
Options :
Competitive inhibition of enzyme activity is reversable reaction

- FEHE o@D DB AT 0D 86y

Noncompetitive inhibition of an enzyme is reversable

- TEDED ogo D ESS BFELD oy

Allosteric inhibiters are known as modulators

, PTR0S ATGT 2rEHE) T DG

A working combination of an apoenzyme and cofactor is called holoenzyme

4 % B 0FD0 HBAKH BTTTV B0 $D2 VoPE DB W

Question Number : 40 Question Id : 8135612440 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The microbial purity of Ganges water 1s due to

(ol RO JFDAWILSL T°E L] 2D

Options :
Bdellovibrio

| v GY Dpawr

Rhodospirillum

- ﬁ&f:g;j&yﬁ:

3. %
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Salmonella
%ﬂ@émy
Beggiotoa
DACITEer
4. ® n
Zoology
Section Id : 81356152
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40
Mark As Answered Required? : Yes

Question Number : 41 Question Id : 8135612441 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Study the following statements and select the correct ones.

1) Organisms capable to tolerate a wide range of temperature are called stenothermal organisms,
2) Thermal tolerance of different species determines thetr geographical distribution to a large extent,
3) Average temperature in tropical forests in summer is < 10°C,

4) Thermal springs can sustain life due to very high average temperature i... >100°C

300 RITR0GY B0V DB

1) eoids edion ardyom s etreo $9h &d) 2o ?gﬁ@cséej Baen e0trm
2) DG erewd” 300 el Dird .g“mw o) 98 DFCB Agowaron

3) Dade’ enduote et arrad eis <10°C dotnod

4) D MG dpr 2o B3 (o TOmAD LIRS VT &t v 1007

8otd .;JE‘x)b&j &otnod

Options :
(1) only
1w (1) ared

(2) only
, v (2) argd

(1). (2) and (3)
L s (D (2) 208am (3)

(1).(3) and (4)

4w (D (3) d0Bowo (4)

Question Number : 42 Question Id : 8135612442 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Which of the following are marine but migrate for spawning to fresh water and after spawning they
die? Their larvae, after metamorphosis, return to the ocean

30 86" D A0 H30ERY) S’ ST ) (HEd DEVHL BEWE'S DT R0 Do, K
2685 8T8 5eron? M Toies 670 Do S8 T AT P3G S0R Sy
Options :

Pristis. Carcharodon and Trygon

o 5o F,
22D, TGO, orrd

Clarias and Pterophyllum

578000, B8 DS

Myxine and Pristis
ﬂ}é;)ﬁ , 8 fguij

Only Petromvzon

D 0D ATedh
4.v TEE i

Question Number : 43 Question Id : 8135612443 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Which two among the following statements regarding embryonic development in humans are true?

i. Cleavage division brings about considerable increase in the mass of protoplasm.
1. With more cleavage divisions, the resultant blastomeres become smaller and smaller.
i1, The blastomeres m the blastocyst are arranged nto two layers. trophoblast and endometrium.

iv. Cleavage divisions result in a solid ball of cells called morula.
S00 a7 Dot B9 MBod) AWED PASTOL" I o HOND?
L QB8 derren da HIT 073D DocHidy
ii. 0B dermren Dy eibiEod e ST D) D B
i gl & erDoand, e M Jo&oate BeE Gott TERUT B0\DETF
iv. OBE Derrren dere) Do SATGEEoN. AN Mer ot

Options :
1 % (@) & (iii)

, o (i) & (iv)
L x () & ()

4w (i) & (i)

Question Number : 44 Question Id : 8135612444 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

In Cockroach. vision 1s due to

ﬁgaé Hoddd Gﬁ&igé sS*5820

Options:
2 Compound eves

- 0ot o30S dTren
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1 Compound eye
20583 Docdng DG

2 Simple eyes
3 % 0ol V¥ Sgrew

3 Simple eyes

4 % ST RO DTren

Question Number : 45 Question Id : 8135612445 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Which of the following is the correct group of vestigial organs in man?

Go8 7" HDNBOND ATDPIG” HIN BIDLITV 363
Options :
Nictitating membrane, ear muscles, eyelids and coccyx

- D2VNS DLVDAD, Be) So&T™LD, S ODHW, IRABSIW

Appendix, cocevx. ear muscles and elbow joint

- E0CISAY), IRAIDSW, B SotTreD, AT WON amé&

Wisdom tooth. coccyx. ear pinna and ear muscles

. 2P Gotaen, BRGSH, eIT°y D), DD SOT SokiTren

Wisdom tooth, body hairs. nictitating membrane and vermiform appendix.

273 SoBANL, BN D Dopsen, DTS DHLAN WO 8, F6S AedSy
4. ¢
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Question Number : 46 Question Id : 8135612446 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Select the correct answer which correctly matches the endocerine gland with the hormone it secretes and
its function /deficiency symptom

Endocrine gland Hormone Function / deficiency
a) Posterior pituitary Growth hormone | Over secretion simulates abnormal growth
b) Thyroid gland Thyroxine Lack of iodine i diet results in goitre
¢) Corpus luteum Testosterone Stimulates spermatogenesis
d) Anterior pituitary Oxytocin Stimulates uterus contraction during child birth

w0t ol ©f Piod YN, B PO, DO For &0y Ddeddod LR BBdoSd

wod: 3D (o8 SFE0 D8/ 5% Hogded 0L

2) DAMED Doweds | DMoe FELD | edsI Jr b HHXHEY

H0LD esF00e” BoIred B'on rantb

b) Boroné (od AU
£ B dvod
0) 50,0 erjohad A EALELL TRV
d) Qrogeods BSN0 | 90D ddnabae” oy 3D o8 pEdses

Options :

1.% @
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Question Number : 47 Question Id : 8135612447 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Identify the ncorrect statement(s) among the following, regarding the groups of chordates
a) Urochordata and Cephalochordata are referred to as Protochordates
b) In Cephalochordates the notochord 15 present only in tail of larva

¢) Salpa and Doliolum belongs to Cephalochordata and Branchiostoma belongs to Urochordata.

d) The members of Protochordata are exclusively marine.

S0ty o9 HowoBod 08 YISTOY” V8 T PHOT) (DSSTOD) bBoiol.
2) e 5Ger, A’ 3t o 58 T S3kr wotrd
b) dareS” s°Ber Mot Dy T (36° B e’ ArgD dotnod
¢) ey, EDArOD, BN DY’ ST 30BMD OAL grodair Yoy ©mNG
0PI TErs) D08

d) e s8tr Sapen ) vang den

Options :
Only d

| x dared

a.bandd
, % 2 baodannd

bandc

3 b s0bBoiv ¢

Only b

4 % bared

Question Number : 48 Question Id : 8135612448 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Progesterone is secreted by
TBITD A VDot

Options:
Thyroid
Buroné

Corpus Luteum

E-'“ci;)i: exredoide

Testes
mga“be_n

Thymus
B0

Question Number : 49 Question Id : 8135612449 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Which statement among the following 15 correct with respect to Neutrophuls?

a) 60-65% of the total WBCs are phagocytic in nature
b) 0.5-1% and secretes histamine. serotonin and heparin and also nvolved in inflammatory reactions,
¢) 2-3 % and resist infection and also associated with allergic reaction.

d) Constitute 20-25 percent and involved in the immune response of the body.

AP0y £ Dowoded) $0BTDS" 08 0N BT Mo,
a) B0 04 sl 60-657 S05 Gotron ddatn L8 RO 580 Eotran
b) 0.5-1% D0 Gotron. aPRRIR. AEEDR, TPaFdR &) PAFan
¢) 2:3% andaty aryd AFeLS wda DTy Sepe’ owodaaw DA eotnod

d) 20-25% sndaiw mg&bﬁﬁﬁgﬁ aﬂ?gvé‘ ﬁvg“oemn

Options:

1.+ 8

Question Number : 50 Question Id : 8135612450 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Desert lizards are conformer hence they cope with the stressful environment by behavioural adaptations.

Which of the following 15 not adaptation?

a) Move to shade when the ambient temperature starts increasing

b) Some species burrowing into the soil to hide and escape from the above-ground heat.

¢) They bask i the sun and absorb heat when their body temperature drops below the comfort
zone 1n winter

d) Perspires when temperature starts inereasing.

20 LEVR) BRI BANEPVSRD SaS DTP(0E AV BEDEDHL PIGT BLEPOTVD

0B ro. & d08 IS’ ODEPO/RD 5B D6 ?
a) GaTo DOcaN Aceand Ac &8 DPTp

b) §2) @osoapen drdip o 068 S Mod) AtLE DI §70 Hod” "Banen Swtotron

¢) Foroans” T8 enaond Tt 360 &l @53, Do © oSS D9y Araio3y
Fttn o8 aﬁov::)l €oc) egv::)i (fararon

d) &g}f’g@ DOAEAD AVEO0NH Gadk) DEXEDE

Options:

1.% 4

4. v 4

Question Number : 51 Question Id : 8135612451 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Choose the correct statement that points out the difference between cartilage and bone.

a) Bone 1s solid and pliable and resists compression cartilage have a hard and non-phable
ground substance

b) Bones in vertebrate embryos are replaced by cartilage m adults

¢) Cartilage 1s present in the tip of nose and bones found associated with skeletal muscle

d) Cartilage 1s mesodermal origin and bone 1s endodermal origin

$06 YoSTOS Aydery o B © W Sl 3B 267

a) daws (B9) 3 HErY, Dol LEHD O B Dowdgaw 5B Gotwod. 0O

GyGEaD00A, Dod ara,s &BA totnod
b) 0530 0" Do e Jaen HETTFBVY” QWO SrAy Do
¢) DyEErD A&y 2:3085° Gotnod By Jawse 0 B0t 0o 933 &otro
d) 20yEoerR) EIBIEA oc A0y B By (JaS) BoBHBLHA MO JTE

Options :

1.% @

2.%10

L]

3.v¥

4. % d

Question Number : 52 Question Id : 8135612452 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Crossing two orgamsms belonging to two closely related species to produce a hybrid is called

G0t 20 ﬁgﬁ Rototia) o Fdow ;:uc;?g RS0 WD eotrd)

Options :
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Interspecific hybridization
1 00 7O VoSO

Intervarietal hybridization
eodC 0S50 oS0

Intergeneric Hybridization
900 D23 oSO

Intramutant hybridization

4 % ©oBC &BBI0D VoSO

Question Number : 53 Question Id : 8135612453 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The exchange of gases between alveolar air and alveolar capillaries occur by

TrainSTen S8k YV S5EITISED e[ TaHe Dadoe Do ?

Options :
Osmosis

Qo
1. &

Ditfusion

5 & ;“zgnaaﬁa

Absorption
3, # %ﬁglﬁﬂ

Active Transport

4% EST-Towt We Fopioe
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Question Number : 54 Question Id : 8135612454 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The first human hormone produced by recombinant DNA technology s

)% Erada DNA Feddsas eaairiod) Saird Babuds 268 Srad 6)S

Options :
Estrogen

éagﬁai}

Humulin

- ::u;ﬁwsﬁﬁ&

Thyroxin

- Ec“é;}ﬁ

Tetracycline

Question Number : 55 Question Id : 8135612455 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Triangular muscle in pericardial sinus of Cockroach are called
&y cgaé Ao T7GOIro0e S3irde Aotiv GZLIFS 0 SotT e

Options :
Circular

1 % P00V SolT W
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Ciliary

5 % 39srs0oh Sodoren

Alary

3 DEEC0 SoTre

Longitudinal

4 % e303006¢h SodiTre)

Question Number : 56 Question Id : 8135612456 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

From a cross AABbD X aaBb. the genotypes AaBB, AaBb, Aabb, aabb will be obtained 1n the
ratio

2¢ AABD X aaBb 572 &° @oﬁrﬁcﬁ:& AaBB, AaBb, Aabb, aabb TERS i)m&crv g'}t‘q:,e}

Options :
1'g.qgkl.l:z: 1= 0
2_&;1: 1:1:1
3% 0:3:1:0
4 1:2:1:0

Question Number : 57 Question Id : 8135612457 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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The lower narrow end of uterus is called

riuvgéamaeﬁ“ Socs DY D LR D00l

Options:
Clitoris

f‘i..‘J‘?IJ"?S-:::TPo S380
1. %

Vulva
L ST B30
Cervix
ﬁc“g%a:b 5.‘11)&::-{:.‘:“5{5—:-
3. %
Urethra
4 % SNTET Vo

Question Number : 58 Question Id : 8135612458 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Identify the incorrect statement among the following:

a) Family has a group of related genera with still a smaller number of similarities as compared
to genus and species

b) Genus comprises a group of unrelated species which has minimum characters in common 1n
comparison to un speeies of other genera,

¢) Order 15 the assemblage of families which exhibit a few similar characters.

d) Classes with a few similar characters are assigned to a hugher category called Division

300 PISTOL” V0 ) IS DBocsol.

a) R:ri}lbﬂej Q0oR0GAw 50 5 IV w8 L0V DBEJPm CRVVVNAL R YOS

paravod IO BEND D*Psen eotran

b) &6 Dowotian 58 &y vgrrod Thse g7 wraven 582 Prd D0y, IO

T Peree LErod J°8 Gotran
¢) &) osrrod” TBS S €3y D00EFe SR w8 SAD J0yDHB0D

d) £y ogrroed” 98 4bA &) B0icvd 58D AdRS Botre)

Options:

1, % @

Question Number : 59 Question Id : 8135612459 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Which of the following statements are correct?
a) Family planning programmes were initiated i 1951,

b) According to WHO. reproductive health means total wellbeing i the physical. social,
behavioural and emotional aspects of reproduction.

¢) ‘Sahelt’ was developed at CDRI in Lucknow

d) Amniocentesis should not be banned as it 15 a foetal sex determination test

2067”26 900D PISTO MHBodoE.
a) knor) Habogde DEEAW 1951 6° GwoNHG

b) WHO 57020 ejend esBrigan 908 008, Jroads, 996 D600, & (iede

DO 0T PAVAS” &) VPP DB R0
¢) 9ird. 08 CDRI&’ ©dayd Sed

d) &0y 0bs (i6yR 3302 Bort ATERD EDATIBE FPHI A7 Dot

Options :

b&c

3.v &

Question Number : 60 Question Id : 8135612460 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Which among the following 1s false regarding “Systema Naturae™?

a) Itis a title of publication.
b) It was published by Linnacus
¢) Systema is a Latin word which means systematic arrangement of physical factors,

d) Itis arecord of different kinds of organisms and their diversities.

20878 Hipar ASPT & Dowoled 10 IO IB?
2) DELBODN Eaw DI
b) B9)ab® D600
c) b‘{gm 9006 PR DHEA B 9000 FE5 05O QS P5T0a Ba0yCan
d) DA oD Bgen T DAPLR VATTPEA0 SH0N0

Options:
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Z.Qb

m

3.¥

4% d

Question Number : 61 Question Id : 8135612461 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Natural reservoir of phosphorous 1s

f.?"‘;:njdiu B0E), 2T RE S a0
(i ]

Options :
Rock
U““?:Ja
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Fossils

5 % Ferarew

Sea water

L PANESY DS

Animal bones
4 % 20BDY S

Question Number : 62 Question Id : 8135612462 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Read the following statements related to movement in paramecium:

Statement 1: They exhibit Synchronous movement in which cilia i a transverse row beat
simultaneously in one direction.

Statement 2: They exhibit metachronous movements in which cilia of longitudinal row show
sequential movement one after the other in one direction. It passes like a wave.

DoranRaDo 6850 MHBod $08 RaDTERM BEdod

DISdAW 1: I8 570 LOLOY SGHS SFYD BT O Hokes’ &) B 30%en a8
Toane’ w8 63" Fcaron

BI3330 2: Agsme B DS AP BIT LIS HWNEG” 2VEeD 2,560 BT
86 A8 636 Podan 2nTron. A0 w8 Bdorin Srdbmr Jdanod
Options :

Both statements 1 and 2 are correct.

1 & Paddaw 1 dodoin 2 28 ®o0d

Only statement 1is correct

5 % 239000 1 aTrda D0 esonHH
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Only statement 2 i< correct

3 % eI 2 a0 w0 20006

Both statements 1 and 2 are incorrect

4 % o 1 208031 DO Tol b 900000 57

Question Number : 63 Question Id : 8135612463 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Which of the following statements 1s incorrect?

208 HIVT0ES’ H8 56 DB ?

Options:
Erythrocytes/RBCs are the least abundant of all the cells in blood
PR Serod) 55y 98 B D Do)’ RBC &otraw

The number of RBCs in adult man per mm’ of blood is 5 million to 5.5 million

- T ATFHHD B3A06° AT 5 Qod) 5.5 WHaHS/mm’ G 68 S5 Eotron

RBCs are formed in the red bone marrow in the adults

L o TG ArAPD A6 Daws 20yd0 REC Do dorow

RBCs are enucleated i most of the mammals
rer 26mree’ RBC dodd Sodsan eotd

4, %

Question Number : 64 Question Id : 8135612464 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Sebaceous glands are also called

WO D Gocden DD

Options :
Exocrine glands

BISTP)S Joden

Apocrine glands

5 % 35655 flocen

Holocrine glands

3 v SPSED Gothdew

Merocrine glands

. DTS Fogoen

Question Number : 65 Question Id : 8135612465 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Blood Circulation was discovered by

BEHRGE DD (8oDIE

Options :
Edward Jenner

- Dcigg Eeb‘lé

William Harvey
dase :3535
2.
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Robert Brown
e ATS AP
F o

Wilbert
A 5T AT
4. % =

Question Number : 66 Question Id : 8135612466 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Tapeworm 1s placed in the class

lato)lebio Ny AN T fo R 0N DO

Options :
Turbellaria
| % E.Jciag?ﬁoﬁr

Cestoda
) v T
Trematoda

e85

3. % =

Sporozoa

4 Sﬁgﬁﬁw:.r“

Question Number : 67 Question Id : 8135612467 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Identify the correct statement(s) regarding Ascariasis
a) Unfertilized eggs are nfective. Such eggs m mtestine hateh in to larva

b) The larvae in human gut invade the intestinal mucosa, and are carried via the portal, then systemic

circulation to the lungs.

¢) The larvae mature in the lungs and penetrate the alveolar walls, and reach the throat, and are
swallowed.

d) The larvae after coming from lungs m to mtestine they will not develop into adult worms.

97, B0170R 95 oeoBod) 8 BeN PN ([DOETVM) HBodol.
a) arbe’ DoBECEn 3o Brm) TN Ardndod AR Seur dran

b) Cogisren AFHaa B Hocsd) 3%@6:13 OVAVER NG s N0eD oo FvcuS 36
w8 Cioc. GBBGIVR S
¢) Consraw &ndaMVE” DO 306 TaE3 fice oo DI (D SMAD. B8 wod

%03 DoofecHd

d) Cozizen Gndogivved Rw) 363 B0TS e APty 306

Options:
1 % a&d

3.%d

Question Number : 68 Question Id : 8135612468 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Match column-I with column — IT and select the correct option from the codes given below.

Column -1 Column - 1II
a) Increase in every 10°C, Metabolic activity doubles 1. Wilson's rule
b) Species of larger size are found in colder environments 1. Gloger's rule

¢) Species with highly pigmented found in warmer environment | 11, Bergmann's rule

d) Animal living 1n arctic region have thick subeutaneous fat v. Wont Hoff’s rule

300 b1 ¢° &) BoTRR, BY-2 & &y Donarod 2 D

93-1 95-11
] &
a) pd 10°C Db 2a3aben 3o Brb) L DOy Do
b) g iR o) Eesen. U Fomred’ Gotron i. P26 obavaw
¢) AED HEA (10 FFERL Enaromd’ Gotron i, %5 Dabadan
d) 9885 gromror” Qaod 2oduPe W} S08
V. ol iFey AN
anocsanand Eay 6 eotwod

Options:
 x @—iv), (b—iif), (c—1), (d—ii)

L o (@i, (=D, (c—iiD), (d—1iv)
L @—iD), 0—iD), (c—1), [@d—iV)
4 @=1), (b—1iD), (c—iD), (d—1)

Question Number : 69 Question Id : 8135612469 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Largest smooth muscle 1s present in

SoHTedes’ DG ALY Socilo 2D/

Options :
Urethra

DosSo

Leg

5 ST

Thigh
S

Uterus of pregnant woman
r‘:&aeﬁ G308, riU"a%'o‘.i.)a

Question Number : 70 Question Id : 8135612470 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Assertion: Cardiac muscle is highly resistance to fatigue

Reason: Cardiac muscle contain numerous sarcosomes, many myoglobin and copious supply
of blood

8y05800 : Pyad Sodten RS &'r )

SORA : B0 Skl T8 5A) T8 Ty, HATFFHS erwPey, ©8s 68

REDT G0t

Options :
Both are correct and reason 1s proper explanation to assertion
| Cotio R0 9000 Hodaiw cﬁ$3356ﬁ53 20 90 S OLAD WA
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Only Assertion is correct and reason is wrong
“ sﬁgbsdm S VO oA Kbl 570w VO 5T

Both are correct but reason 1s not proper explanation to assertion

3 % Botar DO ond) Sodain d@bs{:ms.: A0 0L BP0 BT

Both are wrong

4 % c:ue,bsma S0B05 S°EEA Cotiam W8 oD 5°)

Question Number : 71 Question Id : 8135612471 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Identify the correct statements related to reproduction in Earth worm:
1) They are hermaphrodites but exhibit cross fertilization
A mutual exchange of sperm and ova occurs between two worms during mating.
3) Fertilization occurs i side female reproductive system and fertilized eggs are released wto clitellum,

2)
)

4) Matured sperm, egg and nutritive fluid are deposited i cocoon produced by gland cells of clitellum.
)

5) Fertilization and development occur within the cocoon

T PEOGEHES DotoBod) B NN YHSTVR hocsod.

1) 2 &eonBori Barn odyta Ddscn aW)
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Question Number : 72 Question Id : 8135612472 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Cilia perform Movement

30ge0 9 OT CrdIon?

Options :
Pendular

1. ¢ 669.;'5

Undular

5 % Sdolh

Amoeboid

o Derane
None

EF=2a30D

Question Number : 73 Question Id : 8135612473 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Many ammals use the diumal and seasonal variations m light tensity and photoperiod
to time their

2998 250800 BAS DAV 2NBVDBIVT Fod AHS BRAT Tod ZSoak
;ﬁsb@é‘m 200 ey dhody Q88 AFGE LT &DTAotRetran?
Options :

Migration only

S0 Fe AraRd

Reproductive activities only

5 % DB WO gD

Collection of food only

53350 DECE SPGB

all options are correct

& 27700 VJID

Question Number : 74 Question Id : 8135612474 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The percentage amount of CO; carried or transported by Haemoglobin is

dodd TS0 COLFAFHDS (0° 6T 2E0rDH

Options:
1 % 80 %

, v 23%

AP EAMCET 2020



AP EAMCET 2020

S % 70%

4% 10%

Question Number : 75 Question Id : 8135612475 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Maximmum iodine 1s stored 1n

&JS.%:Q AT e &}Sbci Zech)

Options :
Pituitary

Relewbiolglelnl

1. #

Parathyroid

T BoroE
2. %

Thyroid

3 v BTG

None of these options are correct

. @ 2T POALIG W

Question Number : 76 Question Id : 8135612476 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Study of Snakes is called

e dol) ecs{aido o TR0

Options:
Entomology

1 % DoLATOR

Herpetology

5 % :J"ﬁ:j e

Serpentology

3 ¢ 0 DDEJ“PJE

Ichthyology

4% qScire

Question Number : 77 Question Id : 8135612477 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Ribs move outward during respiration with

FRE0DS” DA Sen PETHEDL S°GE0

Options :
Pharvngeal Muscles

| 0P Sodoen

Inter costal Muscles
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Peritoneal Muscles
2B Dotre) Sodiorew

Petrohyal Muscles
5P Sodioren

Question Number : 78 Question Id : 8135612478 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Infection of Ascaris usually occur by

G0 E&b&i: oS00t fe S°6e0

Options :
Drnking water containing eggs of Ascaris

| o BT8O e $BRD DB Brrite

Eating impertectly cooked pork

PO G&A S0 DodATomo ko

Tse-Tse fly
EFeIR=tTy

Mosquito bite
&) et

Question Number : 79 Question Id : 8135612479 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Which of the following statements is incorrect?

a) Axial skeleton contamns 80 bones and appendicular skeleton contains 126 bones

b) Axial skeleton contains skull. Ribs, sternum and vertebral column.

¢) Appendicular skeleton contains Pectoral girdle. Pelvic girdle. Upper extremity and
lower extremity.

d) Malleus, Incus and Stapes are the bones come under appendicular skeleton.

306 ROOTRY’ 10 3D PIOTI) Mool
a) @E?g&)o&dm &5° 80 dan&en, wme:somnima Doadan 126 Jandedn 40 cotran
b) G_%E?g?’doa&ﬁ&‘lnfje DB, DanseD, eﬁ‘f?g 208010 Dy 08 €9 ZFTFED Eotro

¢) &ammoaﬂf’g Dorsawns’ el o, P, QPTLORD, SOATOTPRD &) &FTTen)

580 sotron
d) Srtsaw, o, Sgosomy & Janen BT DR 0B daron

Options :

1.% &

Question Number : 80 Question Id : 8135612480 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Which of the following bones belong to cranium?
EFrFOVAVIL ToBD DAVELD D) ?
Options :
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Parietal bone. Occipital bone, Temporal bone. Sphenoid bone and Zygomatic

DEGRD, SHTROW, ST, DydSahaw, FTIrES ddwg
1. F

Nasal. Maxillae. Ethmoid. Mandible. Lacrimal. Palatmes. Inferior nasal. Vomer

a'*?-::s"?g, 208D, NRASAD, TRVLD, RV, Ber(Ren
2. ® : =

Parietal bone. Occipital bone, Temporal bone. Sphenoid bone and Ethmoid
6D, VISTTY, ST, VyDIALAW, DILAW
3w O 2 @
Nasal. Maxillae. Zygomatic, Mandible, Lacrimal. Palatines. Inferior nasal. Vomer
TRIETRO, 2ot)sen, ZHACOS dANGe, PADHLY, 9BV, SerGROeD,

4% D0) TIT"FogPRD, VB

Physics
Section Id : 81356153
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40
Mark As Answered Required? : Yes

Question Number : 81 Question Id : 8135612481 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Three particles 4, B and € are projected from the same point with the same initial speeds
making angles 30°,45° and 60° respectively with the horizontal. Which of the following
statement is correct?

A,B 28050 C 030 e 28 608 SE8 28 Doty Aol SR 30°,45°
208050 60° Eerod 8h0 FT6H. BoD, SATHS’ D HIBBW VHEG?

Options :
A, B and C have unequal ranges

_— A, B &S008030 € 05 908772 m&@m

Ranges of A and C are equal and less than that of B.
5 @ A 0008w € v TEDH VRN B8 B Sotd S8,

Ranges of 4 and C are equal and greater than that of B

3 % A D0bain C w .‘.I“?S@P_u RSB0 S0doiw B Sofl &JSJE’::&

A, B and C have equal range

4 A B S06ciwn C o a‘zgf.‘gjm AT

Question Number : 82 Question Id : 8135612482 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical
A square frame of side 0.05 m 1s situated with its positive normal making angle of 45° with a

uniform electric field of 102 V.m ™. The flux of the electric field through the surface bounded

by the square frame is

10V2V.m ™ wwo ) 2,8 D868 IS £S308", 0.05m ZHadn (o &8 BROTTC $Erd)
@ §d)S ©Dwonds 8 NS Edod 45° S0 BV Eolrth. & BN BSBocstits

B080 T ENS G0 A0S, VDTIFAD (fEdorid.

Options :
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| % 250x107° V.m

> »25%X107° V.m

3 « 101072 V.m

4 % 100X 107° V.m

Question Number : 83 Question Id : 8135612483 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

A cylinder rolls down on inclined plane of inclination 30°. the acceleration of the cylinder 1s

o0 §ea 30° 0 Tren BB D ws *gﬂ’n.ﬁn Soti8d Bdhdo) 8. & %\J"*’.Jé.n aws),
B6ead0 Sk,

Options :
g

1.4 3

Question Number : 84 Question Id : 8135612484 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Equal charges (q) are places at the four corners 4, B, C, D of a square of length ‘a’. The

magnitude of the force on the charge at B will be

RNAT BITW ¢’ O, ‘0’ f)"c.‘.@ 0 28 BS6RY JT7ew A B,C,D 56 gothr,
wl n]

B %g;fm ;5%’: &) B5I20002) WV DBATEDD dod?

Options :

3q2

2
dmega

4q?

2
dmeya

(1 +21.E) qz
2 Ameq a?

3.

(1 +2¢'§) q°
” VZ /] 4mega?

4.

Question Number : 85 Question Id : 8135612485 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The resultant force of 5 N and 10 N cannot be

5N 200050 10 N o 10 eyve 5208

Options :
1. % 12N

2.v 4N

, % 8N
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4% 5N

Question Number : 86 Question Id : 8135612486 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Magnetic potential at any point on equatorial line of the magnetic dipole 1s

28 ©ODIY 0 BIG)D0 AIVE), NG| VorBRD DB w8 Dot I WAL 0d
TO0DHS

Options:

oM
47rd?

1. %

HoM
> % 4md?

HoM.cos @
3 % 41rd?

Question Number : 87 Question Id : 8135612487 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The inductive reactance 1s equal to the resistance R of an LR circuit. The circuit 1s supplied an
e.m.f.. E = E;cos(wt). The circuit consumes a power equal to

2,8 LR S0030508" 288 A6 R & H00irdE 0038000 e s ewe (e.m. f).
E = E; cos(wt) ©ows. & S0ohind’ J6\G #8 dod?
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Options :

Ef

Question Number : 88 Question Id : 8135612488 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

In the given transistor circuit, the base current is 35 pA. The value of Ry, =

@rﬁbé g:};j@m Sewohane’ esrdaw 2722 35 pud oA, Ry, =

Options :
1 % 100 k2
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5 v 200 kQ

5 % 300 kQ

4 % 400 kQ

Question Number : 89 Question Id : 8135612489 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Current of 4.8 A 15 flowing through a conductor. The number of electrons per second will be

W8 TSN Mo 48 A DS DTN HAFDIYE FEWH HOIPod 0T

;‘Ooaa?g SUDoE.

Options :

1nl?
| » 3%10

21
5 % 7.68 x 10

20
L x 768X 10

4 % 3%10%°

Question Number : 90 Question Id : 8135612490 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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A thermodynamic system is taken around the cycle ABCDA and the P — V diagram for the

whole process is as shown in the diagram. The work done during the cycle is

28 &Kﬁ;ﬁe‘.’éﬁ bﬁb‘{g ABCDA g0 thotwr SR8 TRAAG 208y ABA HSabR
P — V 58250 H0806° drdeddd. e tigswe” 2603 1 dod?

/P 30PT

N S S -
:

= 20PT

R

5 15P AN Y
"

5 10P-

a5

5P+ D - C

0 2V 4V 6V BV 10V 12V
Volume(m?) =>

Options:
1 % 12 PV

5 120 PV

3 % 20PV

4 % 60 PV

Question Number : 91 Question Id : 8135612491 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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A coil having zero resistance 15 connected in series with a 90 Q resistance and the combination
1s connected to 120 V. 60 Hz line. A voltmeter reads 36 V across the resistance and 114 V

across the coil. The self-inductance of the coil 1s

B S0 W o 28 e‘_'ari:meg&‘o 3£3¢5° 90 36“5_:"31 9% 3 dvas 120 V. 60 Hz Saosd
0T RAN B, VTS HAreddir &Dod S & Doty 36 V. éwmg;s: AT EADT
¢B3 3¢ Doexcy 114V Blorben Braraw. ©owd. Aoty REDoR0EA fiedotsoc.
Options:

16w

| % 38

38

3 % 16T
16
4. 33 3[}

Question Number : 92 Question Id : 8135612492 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

A plane electromagnetic wave travel in free space along x- axis. At a particular point i space.

the electric field along y-axis is 9.3 Vm ™. The magnetic induction along z-axis is

28 NG 3@560‘.&)5‘%0@ ot w5 ?aswao@mﬁmﬁ X-05:50 836" DosrBied.

ST YANG'D BT w8 Dot 3G, Y-850 Dol IS £ 839 9.3 Vm ™! wand,
28530 DO BN, 08 O dodh?

Options:
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| v 310 X108 T
, % 300 X107° T

3 % 300 Xx107° T

, % 930 X1076 T

Question Number : 93 Question Id : 8135612493 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The energy required to accelerate a car from 10 m.s ™ to 20 m.s ™% is times the energy

required to accelerate the car from rest to 10 m.s ™%,

10m.s7" Stfod HOSPERON) w8 S (6o Bob, 20 m.s™ Hrd) Tochrd s0dB 3,
Dé[)e.:fg@é‘ &) B8 0 300 Bod, 10 m.s™" ) Jodtrds S0 388 Iy Ge?

Options :
Equal
1 % ATV

4 times

) w408

2 times

3« 208

3 times

4w 30
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Question Number : 94 Question Id : 8135612494 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Figure shows network of eight resistors numbered 1 to 8. each equal to 2 Q, connectedtoa 3V

battery of negligible internal resistance. The current ‘i in the circuit is

2Q B o 1 A0l 8 Bodud MmBednd A0 ATETOR oSS’ BrowddtY e
8 9% ods DB A0 dAs 3V w}sméeﬁ‘ oD LEHB. &8 roAns’ :Jm@ ‘I7 Dodd?

| .

5 5
F

Options:

1 % 0.25 A

> % 0.504

3 % 0.754

4 & 1.00 A

Question Number : 95 Question Id : 8135612495 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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3 A of current 15 flowing 1n a linear conductor having a length of 40 cm. The conductor 15 placed
in a magnetic field of strength 500 Gauss and makes an angle of 30 with the direction of the

field. It experiences a force of magnitude

40 cm T &) D508 TirPEAn Mot 3 4 3)63595 D5eTeRA. BAN 500 & e.oo:bh“ajoej

$8 00 838 &8) eabF) ot 808" 30 Eniwd Gotidod. DBATErS) ST 6
ToB 20N Jod?

Options :
1 % 3X10*N

, % 3X10°N
3w 3X1072N

—4
4 3X107T4N

Question Number : 96 Question Id : 8135612496 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

If ‘R” 15 the radivs of the earth and ‘h’ is height of T.V. transmission tower. then the covering range
of transmutter will be

R 09096 2o JRro. h 8036 T.V. 0ed 280, wawd 9o dng) o1 JR6e Jod?

Options :
2 2
1 % h“ + R
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4. v V2Rh

Question Number : 97 Question Id : 8135612497 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Volume V" versus temperature ‘T" graph of two moles of helium gas 1s as shown in figure. The
ratio of heat absorbed and the work done by the gas is process 1-2 is

B0t Arenw rdabo JFawd) RHBATRAL V' § S8k agﬁﬁé T8 AR D HRAW
& oA, 1-2 980He° T 0in) § el &g"bé Sodofo B DS o Ad

'V

Options:

1.% 3
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Question Number : 98 Question Id : 8135612498 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

In a Vernier Callipers. one main scale division 1s x em and n divisions of the Vernier scale
coincide with (n — 1) divisions of the main scale. The least count (in cm) of the Callipers 1s

28 HB)0Dd S"E):Jﬁ}'nj DT 0 w8 Jerdddn ewsd x em, PER .Y & (n—1)

DeFTren HB) o6 )0 1 RFTY & DeBNotrow. ?E}:thb &0 Sod cm

Options:

n—1
X
1.% N 2

nx

n—1

Question Number : 99 Question Id : 8135612499 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The ratio of kinetic energy to potential energy of a simple pendulum of angular velocity
‘w’ and amplitude ‘a’. at a displacement ‘x” from the mean position is
;.‘13"(55335 Dotidd) o0 ‘x° EPEHS’ ‘v’ SedaD DiAw SB8aky ‘a’ Sodd BB
£9AD g LW S'wgAw ains), (B2 33 Sndodw fg@a CEMSRUANY

Options :

X2 w2
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a~—x " w

Question Number : 100 Question Id : 8135612500 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

A simple pendulum hangs from the roof of train. The string 15 mclined towards the rear of

the train, What 1s the nature of motion of the train?

28 V0 G'VSAN Fed Wolk P $Yy ol FrEdIR) B, T Few Bl IS P
TR0B008. TU ot BV R(EPHD?
Options :

At rest
 QTEA0AD HE
1. o G

Accelerated
SBRINSG HOITIotID
2. ¥

Uniform Velocity

3 % R0 Drisw

Retarded
a.meae:ﬁsde;:m

4, %
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Question Number : 101 Question Id : 8135612501 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Given that P = 47 + 2 j + kand E: 81 + 4] + 2k then the two vectors P and a

P=4i+2] +kaoBoo Q=87+ 4] +27% wond P 20dcsn  »o%en
Options:
are parallel

1 ¢ AT oddGaon)

are perpendicular

5 % oD

make an angle of 30° to each other

2,8 o8 2,88 30° S B0

make an angle of 48° to each other

208 T3 288 48° i BArow

Question Number : 102 Question Id : 8135612502 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

A certain mass of a perfect gas s at 27 °C. To double the volume of the gas at constant pressure it
must be heated to

27°C &¢ IO HL @55"“% 0 560\ Ta0Y) 6. %d RYPEIAY 6 TUNYP DRI
0lox) B Gal (138 Séecdasrd

Options :
1 % 600 °C

AP EAMCET 2020



AP EAMCET 2020
, » B327°C
5 n 137°6

4 % 243°C

Question Number : 103 Question Id : 8135612503 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Two metallic spheres having same heat capacities are of radii m the ratio 2 + 3 and densities
the ratio 5 : 6. The ratio of their specific heats is nearly

28 6l ﬂ“:ugg;im 597 Boch &'y fivrw Jﬁé‘g‘*u @ 2+ 3 B0k Fogde And
5: 6. wand &8 aog), DT w Apd AT

Options :

1. ¢ 411

2. % 23

3 % 24

4% 835

Question Number : 104 Question Id : 8135612504 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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A metal plate of area 100 em? is lying on a liquid layer of thickness 2 mm. If the

coefficient of viscosity of the liquid is 2 N.s.m ™2, then find the minimum horizontal

force required to move the plate with a speed of 1 cm.s™*.

00t 2 mm SBak ) e Ao 2 N.s.m™ do g g5 F6 100 cm?
DTV (0 W GIPY HUE &) B. 8 DOSW 1 em.sTH SEE EBVEIS TIHVHD
0 £82-230080 LA

Options :
1.« 01N

2. % 1N

4 % 025N

Question Number : 105 Question Id : 8135612505 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

At which temperature. the Centigrade and Fahrenheit scales are equal?

D &X' D¢ DoAE D080k FEDIFE ),y DATDo GoEIRO?

Options :
1 % 40°

2. ¢ A

3 % 37°

4 % —80°
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Question Number : 106 Question Id : 8135612506 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Friction can perform

VLol Lo

Options :
Positive work only
BTSS DA 2B

Zero work only
AT DA DS

Negative work only
20ETS) S D) s

Positive, negative and zero work
ST G S, 2a0Erd) S Sobatn T DA

Question Number : 107 Question Id : 8135612507 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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A block of mass 2 kg slides down an mclined plane. which makes an angle of 45° with the
horizontal. The coefficient of friction between the block and the surface 1s 0.5. The force to

be applied to the block so that it moves down the plane with a umform speed is

02308 45° Eno BRVR) 28 TewdusDd 8 2kg GITR o B) Sod) AR 6.
B8, B8 06 206e MBS 0.5 oS, &8 B SV 18 DEBS T Sotss
OERS 60) 2 DATAOEHVND LVB

Options :

7.1 N. up the plane

o 71N, 8020 p &6%s°

5.5 N. up the plane
5.5 N. doaw D 635"

. down the plane
. 9020 Sod A%

A

[
= =

9.1 N. up the plane
9.1 N. dodw D &35

Question Number : 108 Question Id : 8135612508 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

At given instant of time there are 25% undecayed nuclei in a sample. After 10 s number of

undecayed nuclei reduce to 12.5%. What 1s the mean life of the Nucle1? (nearly)

28 .i’)g%mﬁé 200302008 28 :Jm“gw 25% 20080 Dot Sofsanen &"“HD'
105 S6°¢ 00550 B0t So@shanen 12.5% D Stharan. & So@San aing), rfew
2 TOSL WATOT

Options :
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1\_/15.5'

9 % 22 s

Question Number : 109 Question Id : 8135612509 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Lenz’s law 1s a consequence of the law of conservation of

Tod Ardo DG o 3@5@5 RORDHTAS HBETHD?

Options :
Energy

.

Charge

e50F0

Mass

g:_:;;ﬁ?gr:“%

Momentum

) Q&ﬁﬁ;ﬁﬁo
4. %

Question Number : 110 Question Id : 8135612510 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Option Orientation : Vertical

If the frequency a star is shifting towards the violet end of the spectrum, the star in the
above case is

2,8 DEB30 AW, FdPDfo gt ' GErord VL SrdduNed, & dgdo
B ATB?
Options :

Stationary

G0
1. % @

Moving away from earth

|, 87008 ardorr Fpe

Moving towards the earth

3 Bl SER

Moving torward and backward

4 % S0EIS). DASS) S

Question Number : 111 Question Id : 8135612511 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical
The period of swing for a girl swinging on a swing in her sitting position is T. If she suddenly

starts swinging by standing on the swing. its period

Grabep Sran Erbdud) erds ag) FB abep dowd &NS, & Gobe EuTdgd
BO00

Options :
decreases

SO0
1L.¢ 0
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increases
Poloblableh!

remains constant

5 % AT

becomes zero

4% DT 9PB0B

Question Number : 112 Question Id : 8135612512 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

A Camot engine takes heat from a source at 627 °C and rejects heat to sink at 27 °C. In its 10 cycles

of operation. 1t rejects 600 J of heat energy to the sink. The heat absorbed per cycle of operation is

28 8 o 627 °C 3¢ ersonaw od &ard) FhoEN 27°C 56 Iersosrdd
&3rD) Dodiood. 9 10 S50 78 52008 d3er30rDS 6001 4880 DoBoikord. s
(550 270 Batons’ diredd Gaw

Options:
1 % 6000 J

, % 18007

. » 1807

4 % 133317
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Question Number : 113 Question Id : 8135612513 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Acceleration of an electron in the first Bohr’s orbit 1s proportional to

e5°6 2068 55513‘ DUTD SEH & 9085 AT A0S° Sotosd

Options :

m3r3

1 % h?

Question Number : 114 Question Id : 8135612514 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The ratio of total mechanical energies of two satellites A and B. having masses i ratio 3 : 1.
and revolving in circular orbits of radii ‘r” and 47’ respectively is

T a00odw 4 J"@“g:ﬁn fio S£5w gD A 20B0sw B 90 Bothd & gaéwmw
3:188" &) ow. T8 Adaw areds 390 And

Options :
1. ® e

AP EAMCET 2020



AP EAMCET 2020

3 % 3:4

L l2:1

Question Number : 115 Question Id : 8135612515 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

In Young's double slit experiment if the slit widths are in the ratio 1 ¢ 9. the ratio of the
intensity at minima to that of maxima will be

o80ofs 210t WBE paIrriods” WL Dewyw i 119 0w, E%, (B 3w 20
wE

Options :
1% 1:1
> % 139

3 vlid

4% 13

Question Number : 116 Question Id : 8135612516 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Find the mitial velocity of a body moving with a umform acceleration covering 40 m i the
first 5 seconds and 65 m n the next 5 seconds?

38 Datrtlofd 3% 2GS 5 AL 40m BAL) SETE 5 ERLe”
65 m HOIrE T &PdrdAw
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Options :

_— 11 m.s™ !

> 55 m.s !

3 % 2.5 ms™?

4 m.s 1

Question Number : 117 Question Id : 8135612517 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

A fly 15 sitting on the objective of a telescope pointed towards the moon. What effect 1
expected on the photograph of the moon taken through the telescope?

WoBATrA0R) So@8ydo BN WS cﬁ:&ﬁc’:-ﬁ;,:} g, DRSS I}tg 25 &1 8000l

Mﬁdﬁgﬂ @0 Wod) Frosr Do AND, RS Vs 300ty ?

Options :
The entire field of view blocked
. Q0G0 GyBfo JTADDLEIRD

There 1s an image of the fly on the photograph
- 7030 WPop Siff CBNE). DBDorIo 0O

There 1s no effect at all
3 % DED Do) DeTDo Goticd
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There 15 a reduction in the intensity of the image

HEDor) HHSD SR
4 o 28 &a

Question Number : 118 Question Id : 8135612518 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Which of the following options is correct for the isolated conductors shown in the figure
below having potentials V , Vg ,V; and V;, at points A, B, € and D respectively?

808 S’ U,V V, S0bain V) e Sdwre A, B, C &odaiv D o 96 &) ﬁ“ﬁ@oﬁgﬁu

903, $08 donswd’ 1B VoIO IB?

Options :

1 ® VA:VE}VE:}VD

5 $VD}VC}VB:VA
Vp > Ve >V >V,

3. %

Vp=Vc=Vg =V
4@ D c B A
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Question Number : 119 Question Id : 8135612519 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

One end of a copper rod of area of cross section ‘a” and length ‘I” is placed in a steam
chamber. the other end being at room temperature. The quantity of heat flowing per second
through the rod under steady state 1s (. the value of @ can be increased by

TED ', DS yEpToEw ‘a’ o o s§ 28 §%0 3208 DS &°AP Toksd §R
16 &8 3G Godartd. ek RIS 66 TT" WD PIToB €T Q. @ Dewsy
Dot as

Options :

decreasing ‘a’
‘a’ Shotrd
¥ 3]

increasig I

2. ® 'f, :Joﬁ“g

surrounding the free end with wool
| ORI FH0 &) 85" EotdSdT A

placing ice in contact with the free end

L ij&tﬁarwmrﬁc‘l £5280 otd ‘&:36;16“ EodITA)

Question Number : 120 Question Id : 8135612520 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The velocity of sound in air at NTP is 330 m.s~1 . What will be its value when femperature

is doubled and pressure is halved?

NTP 36 &) 88" o Stfad 330 m.sL. eowd, egﬁgam Gtoxy 0Boko f::c:a":}l
R0 SRBDE 64D i Sku8) od?

AP EAMCET 2020



AP EAMCET 2020
Options :

-1
1 % 330 m.s

5 % 165 m.s !

3« 330V2 m.s7

-1
. 115v2 m.s

Chemistry
Section Id : 81356154
Section Number : 4
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40
Mark As Answered Required? : Yes

Question Number : 121 Question Id : 8135612521 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Recommend the best method among the following to separate ortho and para nitro-phenols

o8 20050 FT 3 HTS R S Botwed, SoBT’ adD HioL

Options:
Chromatography

| x S3reE
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Crystallization

::De:‘;%s:sm

Sublimation
aabaaa

Steam distillation

2023y i::scﬁéo

Question Number : 122 Question Id : 8135612522 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

This reaction is an example of reaction

Sodd @;ﬁg&)&é S BO(S oo

CH,COCH; + HCHO —— CH3;COCH,CH,0H

Options :
Cross aldol condensation

s esered DoTwADo
1. =

Oxidation

5 % H%Dr:‘.daa;hn

Disproportionation

T Fu s el
3

Reductive alkylation

) EODSEED e355), D
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Question Number : 123 Question Id : 8135612523 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Arrange the ions NO,t, NO,, NO; in increasing order of bond lengths

NO; , NO;, NO;3 o o6 Grédne efre $ooiwe” ol ol

Options:
. » NO;” < NO; < NOg

, x N0 = NO; = NO3

5 x NO = NOy < NOj

4 « NO;” < NOy < NO;

Question Number : 124 Question Id : 8135612524 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Calculate the frequency and wavelength of the photon absorbed. when an electron
undergoes a transition from n = 2 state to n = 6 state i the hydrogen atom?

PEED DEATEPHS’ 1 = 2 200D 1 = 6 67D 08 JOTD HOIGH Boct F6D

FoE 30 Perd ding), R 2B Sbef BEu0 Jod?

Options:

| % 484X 1077 1. 4107 nm

. —19 o
5 484 x 10 J. 410.7 nm
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3 % 484 %1077 ], 410.7 nm

4 % 484 x1071%7, 4107 nm

Question Number : 125 Question Id : 8135612525 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

A solution is prepared by adding sodium stearate (C;;H;C00~Na*) in water. Which among
the following graphs correctly depicts the change in molar conductance of the solution if the

amount of sodium stearate 1s increased gradually. keeping the volume of water constant?

Véabo HADBE (C17H;C00™Nat) % D8RS 50Rodd Eridemasson BT, A8 DR0BAPTER)Y
?‘%G,ﬁm &od) J'éabo DONBE DOITEFYY SI0BNT DothdBD) Py, §obd Bar Al

TR Ared Tirsd Srdn Ardedd 267 (G Agud” y-eidn b Frsd

208050 1~ Gdeo A WerBLS 3¢ Jurwin)

Options :
¥
3
E
Ly 3
=5 -
1% /Molarity of Selution
)
3
£
L o
= 3
L2 =]
=35 2
5 % y Molarity of Sclution
3.¢
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=

Mlobar
conductance

k%
-

/Molarity of Selution

g

M

Maolar
conductance

v

/Molarity of Solution

Question Number : 126 Question Id : 8135612526 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The type of bond present in the molecule CaH, 1s

CaH, ©9503)85° (0 toGo O 65°J8 DoBDE ?

Options :
Covalent
FAPu Liou b, Ba leu bl

Polar Covalent
5y DSITTRA0D

Non-Polar
DSOS

Tonic
eSO 0S8
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Question Number : 127 Question Id : 8135612527 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Which of the following statement 1s incorrect?

1) Permanent hardness of water is due to the presence of magnesium and caleium chlorides
and sulphates in water

2) Temporary hardness of water can be removed by treating the water with sodium carbonate

3) Permanent hardness of water can be removed by treating the water with sodium hexa meta

phosphate

4) Boiling of hard water gives scale formation on the pot. indicating permanent hardness

306 e 20 522 PHSHA I ?
1) 28 310 SB3egE SorRn I i) aao, Haawe §6 B NG &3
2) b8 ey DS 589y Féano 03D & 0] 20w, Fofodiin 0
3) 26 Fag® S8 Flawo sy Wer FRNE b o¢ Fofloddoy
4) 5838070 DBAODIDYED G Heop DoyES Tevmwen T3¢ SBITD) Ardod
Options :

1.331

L]

3. ®

4. %

Question Number : 128 Question Id : 8135612528 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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In free radical polymerization between benzoyl peroxide and ethylene. the intermediate formed
in the chain mitiation step 15 . (Here * + " denotes a radical)

Bod one Do"3yE datw FBYS © Hary Favds FIWOL6n Db, 5090 g
e903¢)" O] APGLVOT D0YE FHDOE (REC +” FaDBED Ardipoed)
Options :

| CoHsCH,CH,

, w CellsCHCH,

o CoHsCHyCHCHyCH,

. CsHsCHCH,CH,CH,

Question Number : 129 Question Id : 8135612529 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Arrange the following phenols in decreasing order of their acidic strength

Ortho-nitrophenol ortho-cresol meta-nitrophenol

(1) (ii) (iii)
308 DTS © 55D HUPY D0 SO VoDl
Ug -2E5” Darees Hg—gi‘)“eﬁ 20e-DES" Daees
(i) (ii) (iii)
Options :
1 % (D = (i) > (iii)

, o (O > i) > (1)
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3, (i) > (i) > (i)

b1

AV

4 % (D > @) > (i)

Question Number : 130 Question Id : 8135612530 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Which among the following pairs is correctly matched regarding the use?

2085°€” EDATTY) e DB HABD B AT

Options :
Anionic detergent - Hair conditioners

| ©OTDS Cegots — 6 S0c030

Cationic detergent - Household work and in toothpaste

0105 &EJQU&S — (e moedodon)d) ) andaiy trd f‘b%g

Non-tonic detergent - Liquid dishwashing
PR 9015 Cgot) — Ay e SCTHG

one of these are correct

N
Q) 2D DO T

4, %

Question Number : 131 Question Id : 8135612531 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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2.9 g of a gas X at 95 °C occupied the same volume as 0.184 g of hydrogen at 17 °C at the
same pressure, Then find the molar mass of gas X.

95 &glﬁrjé 96 2.9 g o 8 arainayy X. boin 17°C agﬁga 6 0.184 g (o TEES
TOR0IT. 28 EIA o} 255000 DVEDBATETLY VD0, f:at:)&é X Tr050)
2000 @Qﬁéﬂ“% Jod?

Options :
1. % te

Question Number : 132 Question Id : 8135612532 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Which hydrocarbon among the following has the highest value of heat of combustion?

& 408 g@gdﬁeﬁ‘ DB BB(GEI GerSi) a0 $9A God?
Options :

1. % CsHys

> % CoHia

3 CIEHE‘.E
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4 % CaHio

Question Number : 133 Question Id : 8135612533 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Alkaline earth metals have very high values of third ionization energy due to which of
the following?

A. Inert pair effect
B. High electro positive nature
C. Inert gas configuration of the dipositive ion

D. Smaller 1onic radius of the metal

30006" T084 &' aids Arcs eabrIscn (Bmupdao) e SO

G0 (0 S0RaD JB7?
A BC 2ot PIraAD
B. 005 On dQ§Ora) 50
C. &3 o560 airo s B T DTFRE0
D. §'5Fed fo Od) ©oirdE SPrgren

Options :

1. % 4

Question Number : 134 Question Id : 8135612534 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The pyrimidine bases present in DNA are

DNA &° ffe) D80G To°en
Options:
Cytosine and Adenine

DE°HD HdAIL DEDD

Cytosine and Guanine

DTV oI TR

Cytosine and Thymine

2555 2803 BAD

Cytosine & Uracil

850D SwBatL clworde

Question Number : 135 Question Id : 8135612535 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

In an exothermic reaction. heat 1s evolved. and system loses heat to the surrounding. Which
among the following is true for such a system?

25 egms zﬁdigéé &go DS, 555".-3 Dol DTV a:cg;m bfﬁﬁﬁmoﬁ. £9620:908)
a,g;s-gm RotioBot) $od THS" A R}é?s:m?
Options:

qp Will be negative

- dp mw@&sm (SPwpla-blTa
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AH will be Zero
. AH w“.éénn 9.0l

qp Will be positive

- dp cﬁa“ejés:m (CPeplablTa)

AH will be positive
. AH q&mejé’sm £9:9)E800H

Question Number : 136 Question Id : 8135612536 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

For the reaction Mn0, —— Mn0}~ —— Mn0,, IfEiﬁw_,,Mm:P - =056V and
4 4

0 A 0
— :’ |,f - =

Mn0; —— Mn02~ —— Mn0, t:’JC;SSJ Eifno‘,anO .- = 0.56 V 2080i0
4 4

0 _ 0 _
Estnoz o, = 226V 0008, o= iano, =

Options :
1. % L8V

, % 2.82V

5w L69V

4% 1OV

Question Number : 137 Question Id : 8135612537 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Which among the following is used as an antidepressant?

06 TS T(wT ITESAD (CIrotd Eno) T TES B?

Options :
Iproniazid

1@ DT JoRE

Ranitidine

5 % TPREED

Tertenadine

| maﬁéé

Salvarsan

4% ‘.-1::9.3“5635

Question Number : 138 Question Id : 8135612538 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

N, + 3H, — 2 NH,. Which of the following expression 1s suitable for the above reaction?

& 308 5086’ N, + 3H, — 2 NH; 9618 DB 00g0R6?

Options :
d|H d{NH
_,alt] _  alvH]
1« dt dt
_3 d[N;]  d[H:]
> % dt  dt
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_3 dlHz] _ 7 d[NH;]
dt dt

Question Number : 139 Question Id : 8135612539 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Major product P in the following reactions sequence is:

808 56 335" PETD GBDH) B0 P &0 Botsod

NH»
(1) 3Br. /H:0
(1)NaNO,, HC1, 273-278K
> P
(1) H:0

Options :

OH

Br
Br

Br
1. %
2. %
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Br Br
OH
OH
Br Br
Br
3. %
OH
Br
Br
4. %

Question Number : 140 Question Id : 8135612540 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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For a reaction, A;y = By + Cyy . at equilibrium, the partial pressures Py = 0.25 atm. Pp =
0.18 atm and B, = 0.80 atm. While re-establishing the equilibrium. the partial pressures of

A and B were doubled, with decrease in volume. Then. calculate the partial pressure of C

Ag) = By + Cg) B0 02D 36 Frds Déaren Py = 0.25 atm. P, = 0.18 atm
208080 P, = 0.80 atm. D3RO :;;aéséa?g;ammw 20R0BTH0 3R A,B © 88
G0 B8o) BADLAIE. B € 48 6o fitdoisod

Options:

1 % 0.5atm

5 3.6 atm

3 % 0.36 atm

4 % 120 atm

Question Number : 141 Question Id : 8135612541 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Which among the following pairs are bridge elements?

Sofd VAL T°GH ATUSTL RobiA) BVDoC

Options :
1@ Li & Mg

L« H & Li

3$Ag&m.t
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Question Number : 142 Question Id : 8135612542 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Which statement among the following is not correct about Cr ** and Mn **?

2+ TP ; : :
1) Cr°" and Mn*" have same number of electrons in d-orbital
9 R 2 o . : i " ¥
2) Cr*" and Mn™" have same spin only magnetic moment value.
A s
3) €r~" 1s reducing agent and Mn ™" 1s oxidizing agent.

4) The change from Mn ** to Mn** reduces its stability.

Cr®* 8ot Mn®* 0 Hoe0Bod) & 30d TS’ D6 26 T ?
1) Cr™" soBain Mn™" e d eBytred” dars poafd” Jozi $08 Gotran
2) Cr¥* wbaw Mn** o paoe sorde BT 08 PR DVSRD DATHRT Gotron
3) Cr¥* gandde sdoto Mn** esdydoed
4) Mn** 0 Mn™* & arcdy o9 o) ofoddi

Options :

1.% 1

[

Question Number : 143 Question Id : 8135612543 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Examples of two manmade silicates are

ATrHS :)ﬁéejl PO Totd emrirdesen

Options :
Mica. Glass
0T°, e

Asbhestos. Cement
T°BTE, d0ot)

Glass. Felspar
e, ;:63“;)6

(Glass. Cement

T2, m0ot)

Question Number : 144 Question Id : 8135612544 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Find the product of the given reaction.

Sod tﬁdﬁﬁ) SR D Sudod

HOOC(CH,),COOH + H,N(CH,)g — ?

Options :
Polvdiene
| % FD&ord

Polyester

B N ESTS)
2. W [
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Polyolefin

S IR IR
3. %

Nylon-6.6

4V er-6,6

Question Number : 145 Question Id : 8135612545 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The suitable reagent(s) for the following conversion. is /are

& S0l SUPEHVS BDFSIOD BI oS 65D BODoC..

1 2
CHyCHBr, — > CH, = CHBr —— CH = CH

Options :
Alcoholic KOH
au&ﬁ@é KOH

1. %

Alcoholic KOH followed by NaNH,
) F9S KOH, 86 NaNH, &
2.

Aqueous KOH tollowed by NaNH,

, » KOH 20 groniw, 8657¢ NaNH, &

Zn falcohol
4 % Znfesw) S
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Question Number : 146 Question Id : 8135612546 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Calculate the amount of CH;0H required to prepare 150 ml of 2 % CH;0H solution.

150 ml 2% CH;0H mrodeao Soirdaoinsd S H0ad CH;0H E,J“U":)l (iEdotinaA.

Options :
| % 24¢
9.8 x 10% g
]
3¢ 208

4 % +3%x10°g

Question Number : 147 Question Id : 8135612547 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

How many moles of methane is required to produce 88 g of C0, (4 after combustion”

D) Areww DED B GErdA0 ESfaaf.,p_)Dm 88 raww €0, (5) DB ?

Options :
0.5 mole

2 moles

5 @ 2 [T

1 mole

3_33111“95
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1.5 moles

4. % 1.5 dorenew

Question Number : 148 Question Id : 8135612548 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Nucleons are

RAIPSOIIP RV ORTT

Options:
Protons and electrons

Jer0 BaiL JuTEd

Neutrons and electrons

AR 2000k JUT AL

Protons and neutrons

TP 208030 AT(Erd

Simply neutrons

a‘.mggmﬁ

Question Number : 149 Question Id : 8135612549 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

How does Hemry’s constant K vary with Temperature?
::“é fgc“oﬁép Ky 08ain agﬁgéa mr:,ﬁ?g SlTALInFa b i
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Options :

Ky increases with increase in temperature

. Ky, &8 & Jren Doided
1. -

Ky decreases with increase in temperature
. ﬁgﬁej D80S Ky Sod0d

K o remains constant when temperature changes

- agfgej S8 Ky dend f:gdanrr Eotod

Ky tirst increases, then decreases with increase i temperature

4% Egﬁ;‘j@j DRSS Ky 2068 HdH ddoa-sd @f{'}:}ma&

Question Number : 150 Question Id : 8135612550 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

A — B isomerization reaction has rate constant of 5 1072 min™". If the initial concentration
of A 1s 2 M. the rate of reaction after 1 hour 1s

A~ B eoxdre3eon e6[ S 0080 5 X 107 min™". A o8, 5603 e 2 M
ad, 1 iob S6T¢ i B tiedotdoct. {min = Ao}

Options:
| % 1072 M.min™!
5 @ 6:75%107° M.min™*

3 % 5% 107% M.min1

4, %
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3.27 X 10° M.min !

Question Number : 151 Question Id : 8135612551 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

An 1on with mass number 37 possesses one unit of negative charge. If the 1on contains
11.1% more neutrons than electrons, the symbol of the 1on 1s

G303 Doaf 37 &) w8 VAP 18 DI WIFT) 90 &0 8. ¥ LaIrdY o
DUS"AV Sotd 11.1% Fdo ©QSorT AP(ErAD o, &3 0T NoSSA

Options :

37 .,
Gl

1.4

35 =
el

i
I?P

None of these are correct
D 2T VOADLIG S

Question Number : 152 Question Id : 8135612552 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Which pair among the following species have the same shape?

o T°e5° ) 2ob) 208 550"y £0A Goosn?

Options :
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C0,, NO,
, % CClLy,CO,
3. % 03, Ny

4'¢NG‘2 , O3

Question Number : 153 Question Id : 8135612553 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Which of the following compounds is used for water softening?

Hey EReIN G I S ORI Sod :Jm“g“e.:-é“ DO EDHAETHHCA?

Options:
Caz(P0O,);

2 % N(I.EPO4
3 Nﬂ.ﬁPﬁOlg

4. % ‘M{IEHP'Gd‘

Question Number : 154 Question Id : 8135612554 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Which among the following is a transuranic element?

$0BTES” €70y 0TI SuresTY) BVDG.
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Options :
1 % Pr

ZWLH

3 v NP

4. % Ac

Question Number : 155 Question Id : 8135612555 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Which of the following 1s true?

1) Aldehydes can be converted to hydrocarbons using the reducing agent LiAlH,
2) Esters can be transformed into primary alcohols by means of catalytic hydrogenation
3) Acid catalyzed hydration of alkenes obeys Anti-Markovnikov's rule

4) Conversion of esters to aldehydes can be done using the reducing agent NaBH,

20O 06" D6 deaw ?
1) £5005083 LIAH, 2 edairfod sired JrEsey0m aronddy
2) ei:i;;c-gan P& FFERIE0RAD 3D IO b ey e m AFG\Iy
3) ob) 20 ang). BY 65,00 sfsonan aredd ar8)IES Dabardy JFrdied
4) £oDE6AD NaBH, 20 €01PMod) JYHVRKD SYTOM APGyDNY

Options :

’I.%l

N
4
| ]
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Question Number : 156 Question Id : 8135612556 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

If one mole of ammonia and one mole of hydrogen chloride are mixed in a closed container
to form ammonium chloride gas. then the relation between AH and AU for the system is

) DaD0 ETE DGyOcOL) 1 A6 Ao Bk 1 Are FEES §0E 0 w8

QPR G0l PG S6f 2008, & DO I8 AH, AU © i Hoeodw.

Options :
1 % AH = AU
> % AH = AU

3 o AH < AU

Can’t be determined

i}gﬂﬁmﬁﬁm

Question Number : 157 Question Id : 8135612557 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

_ 1
In the equation PV = ?mf'u’}:’ 2, X denotes

1
L mNX? Haogoemoes” X 0 Ardod

Options :
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Root mean square velocity of gas molecules

e9Ea)y ol TP S0EL t:fm% adaniein
1.9 L L

Velocity of the gas molecules

P00 €9E30a)E) w10

Average velocity of gas molecules

3 % aJP000) B9EREIIE) R o

Collision frequency

4% PR PR

Question Number : 158 Question Id : 8135612558 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Which of the following mixture of gases follow Dalton’s law of partial pressure. at room temperature?
(16 G060 50, & 308 T NP’ ) DD T L8 DETe DODAPDY JB0007?

Options :

.« NO,0,

, % NHy HC

L o H2:02

Data Insufficient

4 % 0T @hmﬁi}_}ﬂgm
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Question Number : 159 Question Id : 8135612559 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

In coagulation of a negative sol. the flocculating power of the cations Na*, Cu®, K, A3*

tollows the order

Gorr3 Egronng; 29,068 306’ Na, Cut, K, A1 sroatesd 65 29,0689 08,

gar:)l & $00 T’ 00th.
Options :

| % APt > cut > Kt > Nat

5 % AT > KT > Cu® > Na*

3 % AP > Na>K" > cu?

4. APt > cut > Nat > KT

Question Number : 160 Question Id : 8135612560 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The bridging bonds in B, H; are

B,H; &5 T°66 eyoGren

Options :
3-centre-3-electron bonds

3-S0fS-3-dUS°0 Lol
1. % =

3-centre-2-electron bonds

3-5085-2-JUE"D LoD
2. ¥ =
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2-centre-2-electron bonds

2-5005-2-dVE°D LoD

3-centre-4-electron bonds

3-S085-4-JUE"D LoTe
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